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 Explain the implications of the following : 

 (a) Product differentiation in monopolistic competition. 

 (b) Perfect knowledge in perfect competition. 

             OR 

 Explain the implications of the following : 

 (a) Interdependence between firms in oligopoly. 

 (b) Large number of sellers in perfect competition. 

 

13. “¯ÖæÙŸÖ ¾ÖÛÎú ´Öë ×ÜÖÃÖÛúÖ¾Ö” †Öî̧ ü “¯ÖæÙŸÖ ¾ÖÛÎú Ûêú ÃÖÖ£Ö-ÃÖÖ£Ö “Ö»Ö®Ö” ´Öë †ÓŸÖ¸ü ÃÖ´Ö—ÖÖ‡‹ … ¯ÖÏŸµÖêÛú Ûêú ×»Ö‹ ×•Ö´´Öê¤üÖ¸ü 

‹Ûú ÛúÖ¸üÛú ²ÖŸÖÖ‡‹ … ȩ̂üÜÖÖ×“Ö¡ÖÖë ÛúÖ ¯ÖÏµÖÖêÝÖ Ûúß×•Ö‹ …  

 Explain the difference between “Shift of Supply Curve” and “Movement along Supply 

Curve”. State one factor responsible for each. Use diagrams. 

 ¥ü×Â™ü²ÖÖ×¬ÖŸÖ ¯Ö¸üßüõÖÖÙ£ÖµÖÖë Ûêú ×»Ö‹ : 

 ´ÖÖ®Ö »Öß×•Ö‹ ‹Ûú ¾ÖÃŸÖã Ûêú Ûêú¾Ö»Ö ¤üÖê ×¾ÖÛÎêúŸÖÖ Æïü … ‡ÃÖ ´ÖÖ®µÖŸÖÖ Ûêú †Ö¬ÖÖ¸ü ¯Ö¸ü ¾ÖîµÖ×ŒŸÖÛú †Ö¯ÖæÙŸÖ ŸÖÖ×»ÖÛúÖ ÃÖê 

²ÖÖ•ÖÖ¸ü ¯ÖæÙŸÖ ŸÖÖ×»ÖÛúÖ ¯ÖÏÖ¯ŸÖ Ûú¸ü®Öê Ûúß ¯ÖÏ×ÛÎúµÖÖ ÃÖ´Ö—ÖÖ‡‹ …  ‹Ûú ÃÖÓÜµÖÖŸ´ÖÛú ˆ¤üÖÆü¸üÞÖ »Öß×•Ö‹ … 6 

 For blind candidates : 

 Explain the derivation of market supply schedule from individual’s supply schedules 

assuming that there are only two sellers. Take a numerical example. 

 

14. ‹Ûú ˆ¯Ö³ÖÖêŒŸÖÖ Ûêú¾Ö»Ö ¤üÖê ¾ÖÃŸÖã†Öë X †Öî̧ ü Y ÛúÖ ˆ¯Ö³ÖÖêÝÖ Ûú¸üŸÖÖ Æîü … ÃÖß´ÖÖÓŸÖ ˆ¯ÖµÖÖê×ÝÖŸÖÖ ×¾Ö¿»ÖêÂÖÞÖ Ûúß ÃÖÆüÖµÖŸÖÖ 

ÃÖê ˆ¯Ö³ÖÖêŒŸÖÖ ÃÖÓŸÖã»Ö®Ö Ûúß ¿ÖŸÖí ÃÖ´Ö—ÖÖ‡‹ …  6 

 A consumer consumes only two goods X and Y. Explain the conditions of consumer’s 

equilibrium using Marginal Utility Analysis. 

 

15. ‡ÃÖ ¯Öæ¾ÖÔ¬ÖÖ¸üÞÖÖ ¯Ö¸ü †Ö¬ÖÖ×¸üŸÖ, ×Ûú ÛúÖê‡Ô ³Öß ˆŸ¯ÖÖ¤ü®Ö ÃÖÖ¬Ö®Ö ÃÖ³Öß ¾ÖÃŸÖã†Öë Ûêú ˆŸ¯ÖÖ¤ü®Ö ´Öë ‹Ûú •ÖîÃÖÖ Ûãú¿Ö»Ö ®ÖÆüà 

ÆüÖêŸÖÖ, ˆŸ¯ÖÖ¤ü®Ö ÃÖ´³ÖÖ¾Ö®ÖÖ ŸÖÖ×»ÖÛúÖ Ûúß ÃÖÆüÖµÖŸÖÖ ÃÖê ‘†¾ÖÃÖ¸ü »ÖÖÝÖŸÖ’ †Öî̧ ü ‘¯Ö×¸ü¾ÖŸÖÔ®Ö Ûúß ÃÖß´ÖÖÑŸÖ ¤ü¸ü’ †¾Ö¬ÖÖ¸üÞÖÖ‹Ñ 

ÃÖ´Ö—ÖÖ‡‹ …    6 

 Explain the concepts of Opportunity Cost and Marginal Rate of Transformation using 

a production possibility schedule based on the assumption that no resource is equally 

efficient in production of all goods. 
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ÜÖÞ›ü    –    ²Ö 

SECTION – B 

16. ³ÖãÝÖŸÖÖ®Ö ÃÖÓŸÖã»Ö®Ö ‘ÖÖ™üÖ : (ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹)  

 (a) “ÖÖ»Öæ »ÖêÜÖÖ ³ÖãÝÖŸÖÖ®Ö ÛúÖ “ÖÖ»Öæ »ÖêÜÖÖ ¯ÖÏÖ×¯ŸÖ ¯Ö¸ü †Ö×¬ÖŒµÖ  

 (b) ¯ÖæÑ•Öß »ÖêÜÖÖ ³ÖãÝÖŸÖÖ®Ö ÛúÖ ¯ÖæÑ•Öß »ÖêÜÖÖ ¯ÖÏÖ×¯ŸÖ ¯Ö¸ü †Ö×¬ÖŒµÖ  

 (c) Ã¾ÖŸÖÓ¡Ö ³ÖãÝÖŸÖÖ®Ö ÛúÖ Ã¾ÖŸÖÓ¡Ö ¯ÖÏÖ×¯ŸÖ ¯Ö¸ü †Ö×¬ÖŒµÖ  

 (d) ÃÖ´ÖÖµÖÖê•Ö®Ö ÆêüŸÖã ³ÖãÝÖŸÖÖ®Ö ÛúÖ ÃÖ´ÖÖµÖÖê•Ö®Ö ÆêüŸÖã ¯ÖÏÖ×¯ŸÖ ¯Ö¸ü †Ö×¬ÖŒµÖ  1 

 Balance of Payments ‘deficit’ is the excess of : (choose the correct alternative) 

 (a) Current account payments over current account receipts. 

 (b) Capital account payments over capital account receipts. 

 (c) Autonomous payments over autonomous receipts. 

 (d) Accommodating payments over a accommodating receipts. 

 

17. ÃÖ¸üÛúÖ¸ü «üÖ¸üÖ ‘×¾Ö×®Ö¾Öê¿Ö’ ÛúÖ †£ÖÔ Æîü : (ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹)  

 (a) †¯Ö®Öß †“Ö»Ö ¯ÖæÑ•ÖßÝÖŸÖ ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖÑ ²Öê“Ö®ÖÖ  

 (b) †¯Ö®Öê ÃÖÖ¾ÖÔ•Ö×®ÖÛú ˆª´ÖÖë Ûêú ¿ÖêµÖ¸ü ²Öê“Ö®ÖÖ  

 (c) †¯Ö®Öê ³Ö¾Ö®Ö ²Öê“Ö®ÖÖ  

 (d) ˆ¯Ö¸üÖêŒŸÖ ÃÖ³Öß  1 

 Disinvestment by government means : (choose the correct alternative) 

 (a) Selling of its fixed capital assets 

 (b) Selling of shares of public enterprises held by it. 

 (c) Selling of its buildings 

 (d) All the above 
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18. ˆŸ¯ÖÖ¤ü®Ö ´Öë †“Ö»Ö ¯ÖæÑ•ÖßÝÖŸÖ ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖë Ûêú ¯ÖÏµÖÖêÝÖ ´Öë ÆüÖê®Öê ¾ÖÖ»Öê †¯ÖÏŸµÖÖ×¿ÖŸÖ †¯ÖÏ“Ö»Ö®Ö ÛúÖê µÖÆü ÛúÆüŸÖê Æîü :  

 (ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹) 

 (a) †“Ö»Ö ¯ÖæÑ•Öß ÛúÖ ˆ¯Ö³ÖÖêÝÖ  

 (b) ¯ÖæÑ•ÖßÝÖŸÖ ÆüÖ×®Ö  

 (c) †ÖµÖ ÆüÖ×®Ö  

 (d) ˆ¯Ö¸üÖêŒŸÖ ´Öë ÃÖê ÛúÖê‡Ô ®ÖÆüà  1 

 Unforseen obsolescence of fixed capital assets during production is : 

 (choose the correct alternative) 

 (a) Consumption of fixed capital 

 (b) Capital loss 

 (c) Income loss 

 (d) None of the above  

 

19.  ¸üÖ•ÖÃ¾Ö ¾µÖµÖ ÃÖê ŒµÖÖ †×³Ö¯ÖÏÖµÖ Æîü ?  1 

 What is revenue expenditure ? 

 

20. ÃÖÛú»Ö ×®Ö¾Öê¿Ö Ûúß ¯Ö×¸ü³ÖÖÂÖÖ ¤üß×•Ö‹ …  1 

 Define Gross Investment. 
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21.  ‹Ûú †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ÃÖÓŸÖã»Ö®Ö ´Öë Æîü … ÃÖß´ÖÖÓŸÖ ˆ¯Ö³ÖÖêÝÖ ¯ÖÏ¾Öé×¢Ö –ÖÖŸÖ Ûúß×•Ö‹ : 

 Ã¾ÖŸÖÓ¡Ö ˆ¯Ö³ÖÖêÝÖ ¾µÖµÖ = 100 

 ×®Ö¾Öê¿Ö ¾µÖµÖ = 100 

 ¸üÖÂ™ÒüßµÖ †ÖµÖ = 2000  3 

 An economy is in equilibrium. Find marginal propensity to consume : 

 Autonomous consumption expenditure = 100 

 Investment expenditure = 100 

 National Income = 2000 

 

22.  µÖ×¤ü ´ÖÖî×¦üÛú †ÖµÖ ` 375 ÆüÖê †Öî̧ ü Ûúß´ÖŸÖ ÃÖæ“ÖÛúÖÓÛú 125 ÆüÖê ŸÖÖê ¾ÖÖÃŸÖ×¾ÖÛú †ÖµÖ ÛúÖ ¯Ö×¸üÛú»Ö®Ö Ûúß×•Ö‹ …  3 

 Given nominal income to be ` 375 and price index 125, calculate real income. 

 

23. ‹Ûú ÃÖÓÜµÖÖŸ´ÖÛú ˆ¤üÖÆü¸üÞÖ »ÖêÛú¸ü †ÖîÃÖŸÖ ˆ¯Ö³ÖÖêÝÖ ¯ÖÏ¾Öé×¢Ö †Öî̧ ü ÃÖß´ÖÖÓŸÖ ˆ¯Ö³ÖÖêÝÖ ¯ÖÏ¾Öé×¢Ö Ûêú ²Öß“Ö ³Öê¤ü Ûúß×•Ö‹ …  

†£Ö¾ÖÖ 

 ÃÖ´Ö—ÖÖ‡‹ †³ÖÖ¾Öß ´ÖÖÑÝÖ ¤æü¸ü Ûú¸ü®Öê ´Öë ÃÖ¸üÛúÖ¸üß ¾µÖµÖ ×ÛúÃÖ ¯ÖÏÛúÖ¸ü ÃÖÆüÖµÖÛú ÆüÖê ÃÖÛúŸÖÖ Æîü … 3  

 Distinguish between Average Propensity to Consume and Marginal Propensity to 

Consume using a numerical example. 

                                  OR 

 Explain how can government spending be helpful in removing deficient demand. 

 

24.  Ûêú®¦üßµÖ ²ÖïÛú ÛúÖ ‘ÃÖ¸üÛúÖ¸ü ÛúÖ ²ÖïÛú’ ÛúÖµÖÔ ÃÖ´Ö—ÖÖ‡‹ …  4 

 Explain ‘government’s bank’ function of central bank. 

 

25. ÃÖ¸üÛúÖ¸ü ²ÖÖ»Ö ™üßÛúÖ ÛúÖµÖÔÛÎú´Ö ¯Ö¸ü ¾µÖµÖ Ûú¸üŸÖß Æîü … ‡ÃÖÛêú ÃÖÛú»Ö ‘Ö ȩ̂ü»Öæ ˆŸ¯ÖÖ¤ü †Öî̧ ü Ûú»µÖÖÞÖ ¯Ö¸ü ¯ÖÏ³ÖÖ¾Ö        

ÃÖ´Ö—ÖÖ‡‹ …    4 

 Government spends on child immunization programme. Analyse its impact on Gross 

Domestic Product and welfare of the people. 
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26. ´Öã¦üÖ ÛúÖ ‘»ÖêÜÖÖ Ûúß ‡ÛúÖ‡Ô’ ÛúÖµÖÔ ÃÖ´Ö—ÖÖ‡‹ … ¾ÖÃŸÖã-×¾Ö×®Ö´ÖµÖ ÃÖê ˆŸ¯Ö®®Ö ÃÖÓ²ÖÓ×¬ÖŸÖ ÃÖ´ÖÃµÖÖ ÛúÖ ×®Ö¾ÖÖ¸üÞÖ ‡ÃÖÛêú 

ÛúÖ¸üÞÖ ÛîúÃÖê ÆüÖê ¯ÖÖµÖÖ Æîü ? 

†£Ö¾ÖÖ 

 ´Öã¦üÖ ÛúÖ ‘†ÖÃ£Ö×ÝÖŸÖ ³ÖãÝÖŸÖÖ®Ö’ ÛúÖµÖÔ ÃÖ´Ö—ÖÖ‡‹ … ¾ÖÃŸÖã-×¾Ö×®Ö´ÖµÖ ÃÖê ˆŸ¯Ö®®Ö ÃÖÓ²ÖÓ×¬ÖŸÖ ÃÖ´ÖÃµÖÖ ÛúÖ ×®Ö¾ÖÖ¸üÞÖ ‡ÃÖÛêú 

ÛúÖ¸üÞÖ ÛîúÃÖê ÆüÖê ¯ÖÖµÖÖ Æîü ?  4 

 Explain the ‘Unit of Account’ function of money. How has it solved the related 

problem created by barter ? 

OR 

 Explain the ‘Standard of deffered payment’ function of money. How has it solved the 

related problem created by barter ? 

 

27.  ÛúÖ¸üÛú »ÖÖÝÖŸÖ ¯Ö¸ü ÃÖÛú»Ö ¤êü¿ÖßµÖ ˆŸ¯ÖÖ¤ü †Öî̧ ü ¾ÖîµÖ×ŒŸÖÛú ¯ÖÏµÖÖê•µÖ †ÖµÖ –ÖÖŸÖ Ûúß×•Ö‹ : 

   (Ûú¸üÖê›Ìü `̀̀̀)  

(i) ¾ÖîµÖ×ŒŸÖÛú Ûú¸ü  100  

(ii) ×®Ö¾Ö»Ö ¸üÖÂ™ÒüßµÖ ¯ÖÏµÖÖê•µÖ †ÖµÖ  800  

(iii) ×®ÖÝÖ´Ö Ûú¸ü  50  

(iv) ×¾Ö¤êü¿ÖÖë ÛúÖê ×®Ö¾Ö»Ö ÛúÖ¸üÛú †ÖµÖ  (–) 10  

(v) ¯ÖÏ×ŸÖ¬ÖÖ×¸üŸÖ †ÖµÖ  20  

(vi) †¯ÖÏŸµÖõÖ Ûú¸ü  170  

(vii) ×®Ö•Öß †ÖµÖ  600  

(viii) †ÖÙ£ÖÛú ÃÖÆüÖµÖŸÖÖ  30  

(ix) †“Ö»Ö ¯ÖæÑ•Öß ÛúÖ ˆ¯Ö³ÖÖêÝÖ  60  

(x) ×¾Ö¤êü¿ÖÖë ÃÖê ×®Ö¾Ö»Ö “ÖÖ»Öæ ÆüÃŸÖÖÓŸÖ¸üÞÖ  10 4, 2 
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 Find Gross Domestic Product at Factor Cost and Personal Disposable Income : 

   (`̀̀̀ crore) 

(i) Personal tax 100 

(ii) Net National Disposable Income 800 

(iii) Corporation tax 50 

(iv) Net factor income to abroad (–) 10 

(v) Retained income 20 

(vi) Indirect tax 170 

(vii) Private income 600 

(viii) Subsidy 30 

(ix) Consumption of fixed capital 60 

(x) Net current transfer from abroad 10 

 

28. ³ÖÖ¸üŸÖßµÖ ×®Ö¾Öê¿ÖÛú ×¾Ö¤êü¿ÖÖë ÃÖê ˆ¬ÖÖ¸ü »ÖêŸÖê Æïü … ×®Ö´®Ö×»Ö×ÜÖŸÖ ¯ÖÏ¿®ÖÖë Ûêú ˆ¢Ö¸ü ¤üß×•Ö‹ : 

 (a) ³ÖãÝÖŸÖÖ®Ö ÃÖÓŸÖã»Ö®Ö »ÖêÜÖÖ ´Öë ×ÛúÃÖ ˆ¯Ö-»ÖêÜÖÖ ´Öë †Öî̧ ü ×ÛúÃÖ ¯ÖõÖ ´Öë ‡ÃÖ ˆ¬ÖÖ¸ü ÛúÖê ¤ü•ÖÔ Ûú ȩ̈üÝÖê ? ÛúÖ¸üÞÖ ¤üß×•Ö‹ …  

 (b) ×¾Ö×®Ö´ÖµÖ ¤ü¸ü ¯Ö¸ü ¯Ö›Ìü®Öê ¾ÖÖ»Öê ‡ÃÖ ˆ¬ÖÖ¸ü Ûêú ¯ÖÏ³ÖÖ¾Ö Ûúß ¾µÖÖÜµÖÖ Ûúß×•Ö‹ …  6 

 Indian investors borrow from abroad. Answer the following : 

 (a) In which sub-account and on which side of the Balance of Payments Account 

will this borrowing be recorded ? Give reason. 

 (b) Explain what is the impact of this borrowing on exchange rate. 

 

29. ¸üÖÂ™ÒüßµÖ †ÖµÖ ÃÖÓŸÖã»Ö®Ö ÛúÖê ¾µÖŒŸÖ Ûú¸ü®Öê Ûúß ¤üÖê ¾ÖîÛú×»¯ÖÛú ¿ÖŸÖí ¯ÖÏÖ¯ŸÖ Ûúß×•Ö‹ … ÃÖÓŸÖã»Ö®ÖÖë ÛúÖê ‹Ûú Æüß ȩ̂üÜÖÖ×“Ö¡Ö ¯Ö¸ü 
×¤üÜÖÖ‡‹ …    6 

 Derive the two alternative conditions of expressing national income equilibrium. Show 

these equilibrium conditions on a single diagram. 

 ¥ü×Â™ü²ÖÖ×¬ÖŸÖ ¯Ö¸üßüõÖÖÙ£ÖµÖÖë Ûêú ×»Ö‹ : 

 ¸üÖÂ™ÒüßµÖ †ÖµÖ ÃÖÓŸÖã»Ö®Ö ÛúÖê ¾µÖŒŸÖ Ûú¸ü®Öê Ûúß ¤üÖê ¾ÖîÛú×»¯ÖÛú ¿ÖŸÖí ÃÖ´Ö—ÖÖ‡‹ … •Ö²Ö †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ÃÖÓŸÖã»Ö®Ö ´Öë ®Ö ÆüÖê ŸÖÖê 
‡ÃÖÛêú ÛúÖ¸üÞÖ ÆüÖê®Öê ¾ÖÖ»Öê ¯ÖÏ³ÖÖ¾Ö ÃÖ´Ö—ÖÖ‡‹ …    

 For the blind candidates : 

 Derive the two alternative conditions of expressing national income equilibrium. 

Explain the effects when economy is not in equilibrium. 
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30. ¸üÖ•ÖÃ¾Ö ¯ÖÏÖ×¯ŸÖ ÃÖê ŒµÖÖ †×³Ö¯ÖÏÖµÖ Æîü ? †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ´Öë ×Ã£Ö¸üŸÖÖ »ÖÖ®Öê ´Öë ÃÖ¸üÛúÖ¸üß ²Ö•Ö™ü ÛúÖ µÖÖêÝÖ¤üÖ®Ö ÃÖ´Ö—ÖÖ‡‹ …  

†£Ö¾ÖÖ 

 ÃÖ¸üÛúÖ¸üß ²Ö•Ö™ü ÃÖê ŒµÖÖ †×³Ö¯ÖÏÖµÖ Æîü ? †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ´Öë ÃÖÓÃÖÖ¬Ö®ÖÖë Ûêú †Ö¾ÖÓ™ü®Ö ÛúÖê ¯ÖÏ³ÖÖ×¾ÖŸÖ Ûú¸ü®Öê ´Öë ÃÖ¸üÛúÖ¸üß ²Ö•Ö™ü 

Ûúß ³Öæ×´ÖÛúÖ ÃÖ´Ö—ÖÖ‡‹ …  6 

 What are revenue receipts ? Explain the role of government budget in bringing 

stability in the economy. 

OR 

 What is government budget ? Explain the role of government budget in influencing 

allocation of resources in the economy. 
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C2 Expected Answer / Value Points 
Distribution 

of Marks 

(SECTION-A) 

1 (a) Perfect Competition 1 

2 (c) oligopoly 1 

3 (b) Less than AR 1 

4 Price taker firm is one who has no option but to accept the price 

determined by the industry. 

1 

5 Imputed interest of own saving is implicit cost.  1 

6 For certain goods and services, government sets minimum price. This 

minimum price is called minimum price ceiling. 

This price is normally set at a level higher than the equilibrium price. This 

leads to excess supply. Since producers are not able to sell all they want to 

sell, they illegally sell the good or service below the minimum price.   

OR 

͚IŶĐƌease͛ iŶ deŵaŶd leads to exĐess deŵaŶd . Since buyers will not be able 

to buy all they want to buy, competition among buyers emerge leading to 

rise in price. Rise in price leads to fall (contraction) in demand and rise 

(expansion) in supply. This continues till demand is equal to supply at a new 

equilibrium price which is higher than the earlier price  

 

1 

 

2 

 

 

 

3 

7 The consumer is not in equilibrium because.  

MRS >    ௉ೣ௉೤  or 2 > 
ହସ 

The consumer is prepared to pay more for one more unit of X than market 

demands. So, he will buy more of X and less of Y till MRS falls enough to be 

equal to 
௉ೣ௉೤ and consumer is in equilibrium again.   

 

1 

 

 

2 

8 Y is more elastic than X because one percent change in price of good Y leads 

to one percent change in quantity demanded while one percent change in 

good X has no effect on demand of good X.         

 

 

3 

9 Es =  
௉ொ × ∆ொ∆௉ 

     =  
ଶ଴ଵ଴଴ × −ହ଴−ଵ଴ 

    =  1 

 

1½  

2 

½  
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10 Related goods are of two types : substitutes and complements. When price 

of the substitute good rises (falls), demand for the given good rises (falls) 

because the given good becomes relatively cheaper (dearer) than the 

substitute good.  

When price of the complementary good rises (falls) its demand falls (rises). 

Demand for the given good falls (rises) because the two goods are used 

jointly. 

 

 

2 

 

 

2 

11 Short run production function. 

 Initially TP increases at increasing rate. 

 After a certain level of output TP increases at decreasing rate. 

 Ultimately TP falls  

OR 

Cost is the sum of actual money expenditure on inputs and imputed 

expenditure on inputs supplied by the owner, including normal profit. 

TFC remains unchanged as output is increased.  

Initially TVC increases at decreasing rate upto a certain level of output and 

then increases at increasing rate.  

 

1 

 

3 

 

1 

1 

2 

12 (a) Product differentiation implies that buyers differentiate products of 

firms various as different. So they are willing to pay different prices 

for the products of different firms . This product differentiation gives 

the power to an individual firm to influence the market price on their 

own. 

(b) Perfect knowledge implies that buyers are fully aware of price in 

market and sellers of technique of production. Knowledge by buyers 

further implies that no buyer is willing to pay a higher price for the 

product of any firm. Knowledge by sellers implies that cost of 

production is same for all producers.   

OR 

(a) Interdependence between firms in an oligopoly market implies that 

an individual firm takes into consideration the likely reactions of its 

rival firms before making a move to change price or output. It is 

possible because it is assumed that rival firms may react. 

 

(b) Large number of sellers means that number of firms are large enough 

so that contribution to total output of the industry by any individual 

firm is negligible. So, no single firm is in a position to influence the 

market price on its own by changing its own output. Thus, Price 

remains unchanged. 

 

 

 

 

 

 

3 

 

 

3 

 

 

 

3 

 

 

 

3 
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13 Shift of supply curve takes place when there is a change in supply due to a 

factor other than own-price of the good . For example, suppose tax rate on 

the good is reduced. This reduces cost and shifts the supply curve from S1 to 

S2 . Price remaining unchanged. Supply increases from OQ1 to OQ2  

(Answer based on any other factor is also correct) 

 

 

 

 

 

 

Diagram 

Example (factor) 

Explanation 

(Answer based on leftward shift is also correct)       

 Movement along the supply curve takes place when there is change in own 

price of the good. Suppose own price rises, this expands supply. The change 

is shown along the same supply curve S, from A to B leading to change in 

quantity supplied from OQ1 to OQ2  

 

 

 

 

 

 

Diagram 

Example (factor) 

Explanation 

(Answer based on fall in price is also correct) 

For the blind candidates  

Market Supply schedule is derived by summing up supplies of all the 

suppliers of the good at each price. Suppose there are only two firms A and 

B producing a good. The supply curve is derived from the figures as given 

below. 

 

 

 

 

 (Explanation based on fall in price is also correct) 

       

Price(Rs.)   Supply by 

A 

Supply by 

B  

Market  

Supply 

20 100 80 180 

25 200 150 350 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

1 

1 

1 

 

 

 

 

 

 

 

 

 
1 

1 

1 

 

 

 

2 

 

 

 

4 
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14 The conditions of consumer to be in equilibrium are  

(1) 
��௫௉௫  = 

��௬௉௬  

(2) MU falls as more of a good is consumed. 

Explanation: 

(1) suppose 
��௫௉௫  is greater than 

��௬௉௬  . This shows that per rupee MUx is 

higher than per rupee MUy. The consumer is induced to buy more of 

X and less of Y. This continues till MUx falls and MUy rises enough to 

make 
��௫௉௫  = 

��௬௉௬  i.e. to reach back to the equilibrium.  

(Answer based on 
࢞�࢞��  < 

࢟�࢟��  is also correct) 

(2) The condition that MUx falls as more of good X is consumed is 

required because unless it is not so the consumer may end up 

consuming only one good and not reach equilibrium.  

 

1 

1 

 

 

 

3 

 

 

 

 

1 

15 Suppose the only two goods produced are X and Y. 

 

 

 

 

 

 

 

(or any other relevant schedule) 

Opportunity Cost refers to the quantity of one good foregone to obtain 

more quantity of the other good. For example when we move from 

combination A to B the economy foregoes 2 units of Y to obtain one more 

units of X. So opportunity cost of obtaining 1X is 2Y.  

MRT means quantity of one good sacrified to produce an additional unit of 

the other good. For example , When we move from combination B to C the 

MRT is  4Y:1X. MRT increases as to produce more of good X. We need to 

transfer less and less efficient resources from good Y.   

 

Combinations   X (Units)  Y (Units) MRT(=∆ࢅ ∶  ሻࢄ∆

A 0 20 - 

B 1 18 2Y:1X 

C 2 14 4Y:1X 

D 3 8 6Y:1X 

E 4 0 8Y:1X 

 

 

 

 

 

 

2 

 

 

 

2 

 

 

 

2 

 SECTION - B  

16 (c) Autonomous payments over autonomous receipts.  1 

17 (b) Selling of shares of public enterprises held by it.  1 

18 (b) Capital loss. 1 

19 Revenue expenditure is one which neither creates any assets nor reduces 

any liabilities. 

1 

20 Gross investment is addition to stock of capital before making allowance for 

depreciation. 

1 
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21 
            � = ̅ܥ + ሺ�ሻܥ�ܯ + �               ʹͲͲͲ = ͳͲͲ + ሺʹͲͲͲሻ ܥ�ܯ + ͳͲͲ       ܥ�ܯ = ʹͲͲͲ − ͳͲͲ − ͳͲͲʹͲͲͲ = ͻͲͲͳͲͲͲ = Ͳ.ͻ 

1½  

1 

½ 

݁݉݋ܿ݊� ݈�݁� 22 = �݁݀݊� ݁ܿ�ݎ�݁݉݋ܿ݊� ݈�݊�݉݋ܰ × ͳͲͲ                      = ͵͹ͷͳʹͷ  × ͳͲͲ     
        = Rs. 300  

1½  

1 

½ 

23 
MPC is the ratio of change in consumption expenditure (∆C) to change in 

total income (∆Y). 

Suppose ∆C = 70 and ∆Y = 100 then MPC = 
଻଴ଵ଴଴ = Ͳ.͹  

(or any other example) 

APC is the ratio of total consumption expenditure (C) to total income (Y). 

Suppose C = 80 and Y = 100 then APC = 
଼଴ଵ଴଴ = Ͳ.ͺ       (or any other example) 

       OR 

Deficient demand means excess of AS over AD at full employment . Since 

government expenditure is component of AD, increasing it will help in 

removing deficient demand in the economy.   

1 

½ 

 

1 

½ 

 

 

3 

24 Although central bank does not deal with public it deals with government. It 

conducts the same banking operations for government as commercial banks 

do for public it gives them loans, does interbank transfers etc. for 

government.   

 

4 

25 Government spending on child immunization programme is government 

consumption final expenditure. Therefore, it raises GDP. Since such a 

programme improves health, it will raise efficiency level of people and 

increase welfare. 

 

4 

26 
Unit of account function of money means that money can be used for 

quoting prices or recording transactions. This removes the difficulty of 

keeping accounts and makes possible the existence of financial institutions.  

OR 

Deferred payments are postponed payments to be made in future. Such 

payments arise on account of borrowing and lending activities. It has 

removed the problem of absence of financial institutions in the barter 

system. It has also removed the problem of trading in wider areas. 

 

4 

 

 

4 

���ܦ� 27  = �� + �� − � + �� − �� + ����              = ͺͲͲ + ͸Ͳ − ͳͲ + ሺ−ͳͲሻ − ͳ͹Ͳ + ͵Ͳ             = .ݏ� ͹ͲͲ  Crore �. .ܦ �. = ��� − ��� − � − � 

 = ͸ͲͲ − ͷͲ − ʹͲ − ͳͲͲ 

  = .ݏ� Ͷ͵ͲCrore 

2 

1½  

½ 

1 

½ 

½ 
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28 (a)  Borrowings from abroad are recorded in the capital account of the 

 B.O.P.   because these give rise to foreign exchange liabilities.   

 These are recorded on the credit side because these bring foreign 

 exchange into the country.  

(b)  Borrowing from abroad raise supply of foreign exchange. Demand 

 for foreign exchange remaining unchanged, exchange rate is likely to 

 fall.  

2 

2 

2 

29 AD = AS ……………………………..;iͿ 

(C + I) = (C +S)  

S = I  ……………………………..;iiͿ 

 

 

 

 

 

 

 

 

 

AD = AS is at E where AD curve intersect 45° line at E 

S= I is at E͛, ǁheŶ saǀiŶg Đuƌǀe iŶteƌseĐts iŶǀestŵeŶt Đuƌǀe at eƋuiliďƌiuŵ 
national income is OM.  

For blind Candidates: 

AD = AS ……………………………..;iͿ 

(C + I) = (C +S)  

S = I  ……………………………..;iiͿ 

Suppose AD > AS or S<I , then inventory will fall short of desired level. The 

producers will raise output AS will rise till AD = AS i.e. point E. 

(Answer based on AD<AS or S>I is also correct) 

2 

 

 

 

 

 

 

 

2 

 

 

 

2 

 

 

 

3 

 

 

3 

30 
Revenue receipts are the receipt which do not create any liabilities nor lead 

to reduction in any assets. 

Stability in the economy means keeping fluctuations in general price level 

within limits. When there is inflation, government can reduce its own 

expenditure to bring down the price level. When there is deflation 

government can increase its own consumption expenditure to fight it. 

Government can also use taxes and subsidies to influence personal 

disposable income and bring economic stability in the country. 

 

 

 

1 

 

 

 

5 
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OR 

Government budget is a statement showing estimated government 

expenditure and receipts during a financial year.  

Government can encourage production of selected goods and services by 

providing tax concessions. For example electricity generation etc. 

Government can also give subsidies to enterprises who are willing to 

undertake production in backward areas etc. In this way government 

budget can be used to influence allocation of resources in the country.   

Increasing taxes and reducing subsidies will have the opposite effect.  

 

 

 

1 

 

 

 

5 
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 (1) ¤üÖê®ÖÖë ÜÖÞ›üÖë Ûêú ÃÖ³Öß ¯ÖÏ¿®Ö †×®Ö¾ÖÖµÖÔ Æïü … 
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 (4) ¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 6-8 †Öî̧ ü 21-23 »Ö‘Öæ¢Ö¸üÖŸ´ÖÛú ¯ÖÏ¿®Ö Æïü, ×•Ö®Ö´Öë ¯ÖÏŸµÖêÛú 3 †ÓÛú Æïü … ¯ÖÏŸµÖêÛú ÛúÖ ˆ¢Ö¸ü ÃÖÖ´ÖÖ®µÖŸÖ: 

60 ¿Ö²¤üÖë ÃÖê †×¬ÖÛú ®ÖÆüà ÆüÖê®ÖÖ “ÖÖ×Æü‹ …  
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“ÖÖ×Æü‹ …  
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 (1) All questions in both sections are compulsory.  

 (2) Marks for questions are indicated against each question.  

 (3) Question No. 1-5 and 16-20 are very short answer questions carrying 1 mark each. 
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Answers to them should not normally exceed 60 words each.  

 (5) Question No. 9-11 and 24-26 are also short answer questions carrying 4 marks 

each. Answers to them should not normally exceed 70 words each.  

 (6) Question No. 12-15 and 27-30 are long answer questions carrying 6 marks each. 

Answers to them should not normally exceed 100 words each.  

 (7) Answers should be brief and to the point and the above word limit be adhered to as 

far as possible.  
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     ÜÖÞ›ü    –    †  

SECTION – A 

1. ‘Ûêú¾Ö»Ö Ûãú”û ²Ö›Ìêü ×¾ÖÛÎêúŸÖÖ’ ‡ÃÖÛúß ×¾Ö¿ÖêÂÖŸÖÖ Æîü : 

 (ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹)  

 (a) ¯ÖæÞÖÔ ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ  

 (b) ‹ÛúÖ×¬ÖÛúÖ×¸üÛú ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ  

 (c) †»¯ÖÖ×¬ÖÛúÖ¸ü  

 (d) ˆ¯Ö¸üÖêŒŸÖ ´Öë ÃÖê ÛúÖê‡Ô ®ÖÆüà  1 

 ‘A few big sellers’ is a characteristics of : (choose the correct alternative) 

 (a) Perfect competition 

 (b) Monopolistic competition 

 (c) Oligopoly 

 (d) None of the above 

 

2. ‹Ûú ±ú´ÖÔ Ûúß ÃÖß´ÖÖÓŸÖ ÃÖ´¯ÖÏÖ×¯ŸÖ (†ÖÝÖ´Ö) ‡ÃÖ ²ÖÖ•ÖÖ¸ü ´Öë ×®Ö Ó̧üŸÖ¸ü ×Ã£Ö¸ü ¸üÆüŸÖß Æîü : (ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹)  

 (a) ¯ÖæÞÖÔ ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ  

 (b) ‹ÛúÖ×¬ÖÛúÖ×¸üÛú ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ  

 (c) †»¯ÖÖ×¬ÖÛúÖ¸ü  

 (d) ˆ¯Ö¸üÖêŒŸÖ ÃÖ³Öß   1 

 Marginal revenue of a firm is constant throughout under : (choose the correct 

alternative) 

 (a) Perfect competition 

 (b) Monopolistic competition 

 (c) Oligopoly 

 (d) All the above 

 

3. ‹Ûú ˆŸ¯ÖÖ¤üÛú †¯Ö®Öê ³Ö¾Ö®Ö ´Öë ¾µÖ¾ÖÃÖÖµÖ ¿Öãºþ Ûú¸üŸÖÖ Æîü †Öî̧ ü ‡ÃÖê “Ö»ÖÖ®Öê ÆêüŸÖã ¸üÖ×¿Ö ˆ¬ÖÖ¸ü »ÖêŸÖÖ Æîü … †ÓŸÖÙ®Ö×ÆüŸÖ 

»ÖÖÝÖŸÖ Ûúß ¯ÖÆü“ÖÖ®Ö Ûúß×•Ö‹ …  1 

 A producer starts the business in the building owned by him and borrows money for 

running it. Identify implicit cost.   
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4. ‹Ûú ±ú´ÖÔ ‹Ûú ¾ÖÃŸÖã Ûúß †×¬ÖÛú ´ÖÖ¡ÖÖ Ûêú¾Ö»Ö Ûúß´ÖŸÖ Ûú´Ö Ûú¸üÛêú Æüß ²Öê“Ö ÃÖÛúŸÖß Æîü … ˆÃÖÛúß ÃÖß´ÖÖÓŸÖ ÃÖ´¯ÖÏÖ×¯ŸÖ 

(†ÖÝÖ´Ö) : 

 (ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹) 

 (a) †ÖîÃÖŸÖ ÃÖ´¯ÖÏÖ×¯ŸÖ (†ÖÝÖ´Ö) ÃÖê †×¬ÖÛú ÆüÖêÝÖß  

 (b) †ÖîÃÖŸÖ ÃÖ´¯ÖÏÖ×¯ŸÖ (†ÖÝÖ´Ö) ÃÖê Ûú´Ö ÆüÖêÝÖß  

 (c) †ÖîÃÖŸÖ ÃÖ´¯ÖÏÖ×¯ŸÖ (†ÖÝÖ´Ö) Ûêú ÃÖ´ÖÖ®Ö ÆüÖêÝÖß  

 (d) ¿Öæ®µÖ ÆüÖêÝÖß   1 

 A firm is able to sell more quantity of a good only by lowering the price. The firm’s 

marginal revenue, as he goes on selling, would be : 

 (choose the correct alternative) 

 (a) Greater than average revenue 

 (b) Less than average revenue 

 (c) Equal to average revenue 

 (d) Zero 

  

 

5.  Ûúß´ÖŸÖ ×®Ö¬ÖÖÔ̧ üÛú ±ú´ÖÔ ÃÖê ŒµÖÖ †×³Ö¯ÖÏÖµÖ Æîü ? 1 

 What is price-maker firm ?  

 

6. X †Öî̧ ü Y ¾ÖÃŸÖã†Öë Ûúß Ûúß´ÖŸÖ ´ÖÖÑÝÖ »ÖÖê“Ö ÛÎú´Ö¿Ö: ¿Öæ®µÖ †Öî̧ ü (–) 1 Æîü … ‡®Ö´Öë ÃÖê ×ÛúÃÖÛúß ´ÖÖÑÝÖ †×¬ÖÛú »ÖÖê“Ö¤üÖ¸ü 

Æîü †Öî̧ ü ŒµÖÖë ?    3 

 Price elasticity of demand for the two goods X and Y are zero and (–) 1 respectively. 

Which of the two is more elastic and why ? 

   

 

7.  ®µÖæ®ÖŸÖ´Ö Ûúß´ÖŸÖ ×®Ö¬ÖÖÔ̧ üÞÖ ÛúÖ †£ÖÔ †Öî̧ ü ‡ÃÖÛêú ¯Ö×¸üÞÖÖ´Ö ÃÖ´Ö—ÖÖ‡‹ …  

†£Ö¾ÖÖ 

 ‹Ûú ¾ÖÃŸÖã Ûúß ´ÖÖÑÝÖ ´Öë ‘¾Öé×¨ü’ Ûêú ÛúÖ¸üÞÖ ÆüÖê®Öê ¾ÖÖ»Öê ¯ÖÏ³ÖÖ¾ÖÖë Ûúß ÀÖéÓÜÖ»ÖÖ ÃÖ´Ö—ÖÖ‡‹ …  3 

 Explain the meaning of ‘minimum’ price ceiling and its implications. 

                   OR 

 Explain the chain of effects of ‘increase’ in demand of a good. 
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8.  ‹Ûú ˆ¯Ö³ÖÖêŒŸÖÖ Ûêú¾Ö»Ö ¤üÖê ¾ÖÃŸÖã†Öë X †Öî̧ ü Y ÛúÖ ˆ¯Ö³ÖÖêÝÖ Ûú¸üŸÖÖ Æîü … ÃÖß´ÖÖÓŸÖ ¯ÖÏ×ŸÖÃ£ÖÖ¯Ö®Ö ¤ü¸ü 3 Æîü •Ö²Ö×Ûú         

X †Öî̧ ü Y Ûúß ¯ÖÏ×ŸÖ ‡ÛúÖ‡Ô Ûúß´ÖŸÖë ÛÎú´Ö¿Ö: ` 4 †Öî̧ ü ` 2 Æïü … ŒµÖÖ ˆ¯Ö³ÖÖêŒŸÖÖ ÃÖÓŸÖã»Ö®Ö ´Öë Æîü ? ˆÃÖÛúß †ÖÝÖê 

¯ÖÏ×ŸÖ×ÛÎúµÖÖ ŒµÖÖ ÆüÖêÝÖß ? ÛúÖ¸üÞÖ ¤üß×•Ö‹ …  3 

 A consumer consumes only two goods X and Y. Marginal rate of substitution is 3            

and per unit prices of X and Y are ` 4 and ` 2 respectively. Is the consumer in 

equilibrium ? What will be the further reaction of the consumer ? Give reasons.  

 

9. ‹êÃÖÖ ˆŸ¯ÖÖ¤ü®Ö ±ú»Ö®Ö ×ÛúÃÖ ¯ÖÏÛúÖ¸ü ÛúÖ Æîü ×•ÖÃÖ´Öë Ûêú¾Ö»Ö ‹Ûú †ÖÝÖŸÖ Ûúß ¾Öé×¨ü Ûúß •ÖÖŸÖß Æîü •Ö²Ö×Ûú †®µÖ †ÖÝÖŸÖÖë ÛúÖê 

×Ã£Ö¸ü ¸üÜÖÖ •ÖÖŸÖÖ Æîü … ‹êÃÖê ˆŸ¯ÖÖ¤ü®Ö ±ú»Ö®Ö ´Öë Ûãú»Ö ˆŸ¯ÖÖ¤ü ÛúÖ ¾µÖ¾ÖÆüÖ¸ü ²ÖŸÖÖ‡‹ …  

†£Ö¾ÖÖ 

 »ÖÖÝÖŸÖ Ûúß ¯Ö×¸ü³ÖÖÂÖÖ ¤üß×•Ö‹ … •ÖîÃÖê-•ÖîÃÖê ˆŸ¯ÖÖ¤ü®Ö ´Öë ¾Öé×¨ü Ûúß •ÖÖŸÖß Æîü (a) Ûãú»Ö ×Ã£Ö¸ü »ÖÖÝÖŸÖ †Öî̧ ü (b) Ûãú»Ö 

¯Ö×¸ü¾ÖŸÖá »ÖÖÝÖŸÖ ÛúÖ ¾µÖ¾ÖÆüÖ¸ü ²ÖŸÖÖ‡‹ …  4 

 What type of production function is this in which only one input is increased and 

others kept constant ? State the behaviour of total product in this production function. 

OR 

 Define cost. State the behaviour of (a) Total Fixed Cost and (b) Total Variable Cost as 

output is increased. 

  

10.  ‹Ûú ˆŸ¯ÖÖ¤üÛú ` 20 ¯ÖÏ×ŸÖ ‡ÛúÖ‡Ô ¯Ö¸ü ¾ÖÃŸÖã Ûúß 100 ‡ÛúÖ‡µÖÖë Ûúß ¯ÖæÙŸÖ Ûú¸üŸÖÖ Æîü … ¾ÖÃŸÖã Ûúß Ûúß´ÖŸÖ ¯ÖæÙŸÖ »ÖÖê“Ö 2           

Æîü … ×ÛúÃÖ Ûúß´ÖŸÖ ¯Ö¸ü ¾ÖÆü 50 ‡ÛúÖ‡Ô Ûúß ¯ÖæÙŸÖ Ûú ȩ̂üÝÖÖ ? ¯Ö×¸üÛú»Ö®Ö Ûúß×•Ö‹ …  4 

 A producer supplies 100 units of a good at a price of ` 20 per unit. Price elasticity of 

supply is 2. At what price will he supply 50 units ? Calculate.  

 

11.  ´ÖÖÑÝÖ Ûúß ¯Ö×¸ü³ÖÖÂÖÖ ¤üß×•Ö‹ … ²ÖÖ•ÖÖ¸ü ´ÖÖÑÝÖ ¯Ö¸ü ¯ÖÏ³ÖÖ¾Ö ›üÖ»Ö®Öê ¾ÖÖ»Öê ÛúÖ¸üÛú ²ÖŸÖÖ‡‹ …  4 

 Define demand. State the factors affecting market demand.  

 

12. ‹Ûú ˆ¯Ö³ÖÖêŒŸÖÖ Ûêú¾Ö»Ö ¤üÖê ¾ÖÃŸÖã†Öë X †Öî̧ ü Y ÛúÖ ˆ¯Ö³ÖÖêÝÖ Ûú¸üŸÖÖ Æîü … ÃÖß´ÖÖÓŸÖ ˆ¯ÖµÖÖê×ÝÖŸÖÖ ×¾Ö¿»ÖêÂÖÞÖ Ûúß ÃÖÆüÖµÖŸÖÖ 

ÃÖê ˆ¯Ö³ÖÖêŒŸÖÖ ÃÖÓŸÖã»Ö®Ö Ûúß ¿ÖŸÖí ÃÖ´Ö—ÖÖ‡‹ …  6 

 A consumer consumes only two goods X and Y. Explain the conditions of consumer’s 

equilibrium using Marginal Utility Analysis. 
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13. ×®Ö´®Ö×»Ö×ÜÖŸÖ Ûêú ¯Ö×¸üÞÖÖ´Ö ÃÖ´Ö—ÖÖ‡‹ : 

 (a) ‹ÛúÖ×¬ÖÛúÖ×¸üÛú ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ ´Öë ˆŸ¯ÖÖ¤ü ×¾Ö³Öê¤ü  

 (b) ¯ÖæÞÖÔ ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ ´Öë ¯ÖæÞÖÔ –ÖÖ®Ö  

   †£Ö¾ÖÖ 

 ×®Ö´®Ö×»Ö×ÜÖŸÖ Ûêú ¯Ö×¸üÞÖÖ´Ö ÃÖ´Ö—ÖÖ‡‹ : 

 (a) †»¯ÖÖ×¬ÖÛúÖ¸ü ´Öë ±ú´ÖÖí Ûêú ²Öß“Ö ¯Ö¸üÃ¯Ö¸ü ×®Ö³ÖÔ̧ üŸÖÖ  

 (b) ¯ÖæÞÖÔ ¯ÖÏ×ŸÖµÖÖê×ÝÖŸÖÖ ´Öë ×¾ÖÛÎêúŸÖÖ†Öë Ûúß ²Ö›Ìüß ÃÖÓÜµÖÖ  6 

 Explain the implications of the following : 

 (a) Product differentiation in monopolistic competition. 

 (b) Perfect knowledge in perfect competition. 

             OR 

 Explain the implications of the following : 

 (a) Interdependence between firms in oligopoly. 

 (b) Large number of sellers in perfect competition. 

  

 

14. ‡ÃÖ ¯Öæ¾ÖÔ¬ÖÖ¸üÞÖÖ ¯Ö¸ü †Ö¬ÖÖ×¸üŸÖ, ×Ûú ÛúÖê‡Ô ³Öß ˆŸ¯ÖÖ¤ü®Ö ÃÖÖ¬Ö®Ö ÃÖ³Öß ¾ÖÃŸÖã†Öë Ûêú ˆŸ¯ÖÖ¤ü®Ö ´Öë ‹Ûú •ÖîÃÖÖ Ûãú¿Ö»Ö ®ÖÆüà 

ÆüÖêŸÖÖ, ˆŸ¯ÖÖ¤ü®Ö ÃÖ´³ÖÖ¾Ö®ÖÖ ŸÖÖ×»ÖÛúÖ Ûúß ÃÖÆüÖµÖŸÖÖ ÃÖê ‘†¾ÖÃÖ¸ü »ÖÖÝÖŸÖ’ †Öî̧ ü ‘¯Ö×¸ü¾ÖŸÖÔ®Ö Ûúß ÃÖß´ÖÖÑŸÖ ¤ü¸ü’ †¾Ö¬ÖÖ¸üÞÖÖ‹Ñ 

ÃÖ´Ö—ÖÖ‡‹ …    6 

 Explain the concepts of Opportunity Cost and Marginal Rate of Transformation using 

a production possibility schedule based on the assumption that no resource is equally 

efficient in production of all goods. 

  

 

15. “¯ÖæÙŸÖ ¾ÖÛÎú ´Öë ×ÜÖÃÖÛúÖ¾Ö” †Öî̧ ü “¯ÖæÙŸÖ ¾ÖÛÎú Ûêú ÃÖÖ£Ö-ÃÖÖ£Ö “Ö»Ö®Ö” ´Öë †ÓŸÖ¸ü ÃÖ´Ö—ÖÖ‡‹ … ¯ÖÏŸµÖêÛú Ûêú ×»Ö‹ ×•Ö´´Öê¤üÖ¸ü 

‹Ûú ÛúÖ¸üÛú ²ÖŸÖÖ‡‹ … ȩ̂üÜÖÖ×“Ö¡ÖÖë ÛúÖ ¯ÖÏµÖÖêÝÖ Ûúß×•Ö‹ …  

 Explain the difference between “Shift of Supply Curve” and “Movement along Supply 

Curve”. State one factor responsible for each. Use diagrams. 

 ¥ü×Â™ü²ÖÖ×¬ÖŸÖ ¯Ö¸üßüõÖÖÙ£ÖµÖÖë Ûêú ×»Ö‹ : 

 ´ÖÖ®Ö »Öß×•Ö‹ ‹Ûú ¾ÖÃŸÖã Ûêú Ûêú¾Ö»Ö ¤üÖê ×¾ÖÛÎêúŸÖÖ Æïü … ‡ÃÖ ´ÖÖ®µÖŸÖÖ Ûêú †Ö¬ÖÖ¸ü ¯Ö¸ü ¾ÖîµÖ×ŒŸÖÛú †Ö¯ÖæÙŸÖ ŸÖÖ×»ÖÛúÖ ÃÖê 

²ÖÖ•ÖÖ¸ü ¯ÖæÙŸÖ ŸÖÖ×»ÖÛúÖ ¯ÖÏÖ¯ŸÖ Ûú¸ü®Öê Ûúß ¯ÖÏ×ÛÎúµÖÖ ÃÖ´Ö—ÖÖ‡‹ …  ‹Ûú ÃÖÓÜµÖÖŸ´ÖÛú ˆ¤üÖÆü¸üÞÖ »Öß×•Ö‹ … 6 

 For blind candidates : 

 Explain the derivation of market supply schedule from individual’s supply schedules 

assuming that there are only two sellers. Take a numerical example. 
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ÜÖÞ›ü    –    ²Ö 

SECTION – B 

16. ÃÖ¸üÛúÖ¸ü «üÖ¸üÖ ‘×¾Ö×®Ö¾Öê¿Ö’ ÛúÖ †£ÖÔ Æîü : (ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹)  

 (a) †¯Ö®Öß †“Ö»Ö ¯ÖæÑ•ÖßÝÖŸÖ ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖÑ ²Öê“Ö®ÖÖ  

 (b) †¯Ö®Öê ÃÖÖ¾ÖÔ•Ö×®ÖÛú ˆª´ÖÖë Ûêú ¿ÖêµÖ¸ü ²Öê“Ö®ÖÖ  

 (c) †¯Ö®Öê ³Ö¾Ö®Ö ²Öê“Ö®ÖÖ  

 (d) ˆ¯Ö¸üÖêŒŸÖ ÃÖ³Öß  1 

 Disinvestment by government means : (choose the correct alternative) 

 (a) Selling of its fixed capital assets 

 (b) Selling of shares of public enterprises held by it. 

 (c) Selling of its buildings 

 (d) All the above 

 

17. ³ÖãÝÖŸÖÖ®Ö ÃÖÓŸÖã»Ö®Ö ‘ÖÖ™üÖ : (ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹)  

 (a) “ÖÖ»Öæ »ÖêÜÖÖ ³ÖãÝÖŸÖÖ®Ö ÛúÖ “ÖÖ»Öæ »ÖêÜÖÖ ¯ÖÏÖ×¯ŸÖ ¯Ö¸ü †Ö×¬ÖŒµÖ  

 (b) ¯ÖæÑ•Öß »ÖêÜÖÖ ³ÖãÝÖŸÖÖ®Ö ÛúÖ ¯ÖæÑ•Öß »ÖêÜÖÖ ¯ÖÏÖ×¯ŸÖ ¯Ö¸ü †Ö×¬ÖŒµÖ  

 (c) Ã¾ÖŸÖÓ¡Ö ³ÖãÝÖŸÖÖ®Ö ÛúÖ Ã¾ÖŸÖÓ¡Ö ¯ÖÏÖ×¯ŸÖ ¯Ö¸ü †Ö×¬ÖŒµÖ  

 (d) ÃÖ´ÖÖµÖÖê•Ö®Ö ÆêüŸÖã ³ÖãÝÖŸÖÖ®Ö ÛúÖ ÃÖ´ÖÖµÖÖê•Ö®Ö ÆêüŸÖã ¯ÖÏÖ×¯ŸÖ ¯Ö¸ü †Ö×¬ÖŒµÖ  1 

 Balance of Payments ‘deficit’ is the excess of : (choose the correct alternative) 

 (a) Current account payments over current account receipts. 

 (b) Capital account payments over capital account receipts. 

 (c) Autonomous payments over autonomous receipts. 

 (d) Accommodating payments over a accommodating receipts. 

 

18. ÃÖÛú»Ö ×®Ö¾Öê¿Ö Ûúß ¯Ö×¸ü³ÖÖÂÖÖ ¤üß×•Ö‹ …  1 

 Define Gross Investment. 
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19.  ˆŸ¯ÖÖ¤ü®Ö ´Öë †“Ö»Ö ¯ÖæÑ•ÖßÝÖŸÖ ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖë Ûêú ¯ÖÏµÖÖêÝÖ ´Öë ÆüÖê®Öê ¾ÖÖ»Öê †¯ÖÏŸµÖÖ×¿ÖŸÖ †¯ÖÏ“Ö»Ö®Ö ÛúÖê µÖÆü ÛúÆüŸÖê Æîü :  

 (ÃÖÆüß ×¾ÖÛú»¯Ö “Öã×®Ö‹) 

 (a) †“Ö»Ö ¯ÖæÑ•Öß ÛúÖ ˆ¯Ö³ÖÖêÝÖ  

 (b) ¯ÖæÑ•ÖßÝÖŸÖ ÆüÖ×®Ö  

 (c) †ÖµÖ ÆüÖ×®Ö  

 (d) ˆ¯Ö¸üÖêŒŸÖ ´Öë ÃÖê ÛúÖê‡Ô ®ÖÆüà  1 

 Unforseen obsolescence of fixed capital assets during production is : 

 (choose the correct alternative) 

 (a) Consumption of fixed capital 

 (b) Capital loss 

 (c) Income loss 

 (d) None of the above  

 

20.  ¯ÖæÑ•ÖßÝÖŸÖ ¾µÖµÖ ÃÖê ŒµÖÖ †×³Ö¯ÖÏÖµÖ Æîü ? 1 

 What is capital expenditure ?  

 

21. ‹Ûú ÃÖÓÜµÖÖŸ´ÖÛú ˆ¤üÖÆü¸üÞÖ »ÖêÛú¸ü †ÖîÃÖŸÖ ˆ¯Ö³ÖÖêÝÖ ¯ÖÏ¾Öé×¢Ö †Öî̧ ü ÃÖß´ÖÖÓŸÖ ˆ¯Ö³ÖÖêÝÖ ¯ÖÏ¾Öé×¢Ö Ûêú ²Öß“Ö ³Öê¤ü Ûúß×•Ö‹ …  

†£Ö¾ÖÖ 

 ÃÖ´Ö—ÖÖ‡‹ †³ÖÖ¾Öß ´ÖÖÑÝÖ ¤æü¸ü Ûú¸ü®Öê ´Öë ÃÖ¸üÛúÖ¸üß ¾µÖµÖ ×ÛúÃÖ ¯ÖÏÛúÖ¸ü ÃÖÆüÖµÖÛú ÆüÖê ÃÖÛúŸÖÖ Æîü … 3  

 Distinguish between Average Propensity to Consume and Marginal Propensity to 

Consume using a numerical example. 

                                  OR 

 Explain how can government spending be helpful in removing deficient demand. 
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22.  ‹Ûú †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ÃÖÓŸÖã»Ö®Ö ´Öë Æîü … Ã¾ÖŸÖÓ¡Ö ˆ¯Ö³ÖÖêÝÖ ¾µÖµÖ –ÖÖŸÖ Ûúß×•Ö‹ : 

  ¸üÖÂ™ÒüßµÖ †ÖµÖ   = 1600 

  ×®Ö¾Öê¿Ö ¾µÖµÖ   = 300 

  ÃÖß´ÖÖÓŸÖ ˆ¯Ö³ÖÖêÝÖ ¯ÖÏ¾Öé×¢Ö = 0.8 3 

  An economy is in equilibrium. Find autonomous consumption expenditure : 

  National Income = 1600 

  Investment Expenditure = 300 

  Marginal Propensity to Consume = 0.8  

 

23.  µÖ×¤ü ´ÖÖî×¦üÛú †ÖµÖ ` 600 ÆüÖê †Öî̧ ü Ûúß´ÖŸÖ ÃÖæ“ÖÛúÖÓÛú 100 ÆüÖê, ŸÖÖê ¾ÖÖÃŸÖ×¾ÖÛú †ÖµÖ ÛúÖ ¯Ö×¸üÛú»Ö®Ö Ûúß×•Ö‹ …  3 

 If nominal income is ` 600 and price index is 100, find real income.  

 

24.  ´Öã¦üÖ ÛúÖ ‘»ÖêÜÖÖ Ûúß ‡ÛúÖ‡Ô’ ÛúÖµÖÔ ÃÖ´Ö—ÖÖ‡‹ … ¾ÖÃŸÖã-×¾Ö×®Ö´ÖµÖ ÃÖê ˆŸ¯Ö®®Ö ÃÖÓ²ÖÓ×¬ÖŸÖ ÃÖ´ÖÃµÖÖ ÛúÖ ×®Ö¾ÖÖ¸üÞÖ ‡ÃÖÛêú 

ÛúÖ¸üÞÖ ÛîúÃÖê ÆüÖê ¯ÖÖµÖÖ Æîü ? 

†£Ö¾ÖÖ 

 ´Öã¦üÖ ÛúÖ ‘†ÖÃ£Ö×ÝÖŸÖ ³ÖãÝÖŸÖÖ®Ö’ ÛúÖµÖÔ ÃÖ´Ö—ÖÖ‡‹ … ¾ÖÃŸÖã-×¾Ö×®Ö´ÖµÖ ÃÖê ˆŸ¯Ö®®Ö ÃÖÓ²ÖÓ×¬ÖŸÖ ÃÖ´ÖÃµÖÖ ÛúÖ ×®Ö¾ÖÖ¸üÞÖ ‡ÃÖÛêú 

ÛúÖ¸üÞÖ ÛîúÃÖê ÆüÖê ¯ÖÖµÖÖ Æîü ?  4 

 Explain the ‘Unit of Account’ function of money. How has it solved the related 

problem created by barter ? 

OR 

 Explain the ‘Standard of deffered payment’ function of money. How has it solved the 

related problem created by barter ? 

  

25.  Ûêú®¦üßµÖ ²ÖïÛú ÛúÖ ‘²ÖïÛúÖë ÛúÖ ²ÖïÛú’ ÛúÖµÖÔ ÃÖ´Ö—ÖÖ‡‹ …  4 

 Explain ‘Bankers Bank’ function of central bank.  
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26. ÃÖ¸üÛúÖ¸ü ²ÖÖ»Ö ™üßÛúÖ ÛúÖµÖÔÛÎú´Ö ¯Ö¸ü ¾µÖµÖ Ûú¸üŸÖß Æîü … ‡ÃÖÛêú ÃÖÛú»Ö ‘Ö ȩ̂ü»Öæ ˆŸ¯ÖÖ¤ü †Öî̧ ü Ûú»µÖÖÞÖ ¯Ö¸ü ¯ÖÏ³ÖÖ¾Ö        

ÃÖ´Ö—ÖÖ‡‹ …    4 

 Government spends on child immunization programme. Analyse its impact on Gross 

Domestic Product and welfare of the people. 

 

27.  ³ÖÖ¸üŸÖßµÖ ×®Ö¾Öê¿ÖÛú ×¾Ö¤êü¿ÖÖë ÃÖê ˆ¬ÖÖ¸ü »ÖêŸÖê Æïü … ×®Ö´®Ö×»Ö×ÜÖŸÖ ¯ÖÏ¿®ÖÖë Ûêú ˆ¢Ö¸ü ¤üß×•Ö‹ : 

 (a) ³ÖãÝÖŸÖÖ®Ö ÃÖÓŸÖã»Ö®Ö »ÖêÜÖÖ ´Öë ×ÛúÃÖ ˆ¯Ö-»ÖêÜÖÖ ´Öë †Öî̧ ü ×ÛúÃÖ ¯ÖõÖ ´Öë ‡ÃÖ ˆ¬ÖÖ¸ü ÛúÖê ¤ü•ÖÔ Ûú ȩ̈üÝÖê ? ÛúÖ¸üÞÖ ¤üß×•Ö‹ …  

 (b) ×¾Ö×®Ö´ÖµÖ ¤ü¸ü ¯Ö¸ü ¯Ö›Ìü®Öê ¾ÖÖ»Öê ‡ÃÖ ˆ¬ÖÖ¸ü Ûêú ¯ÖÏ³ÖÖ¾Ö Ûúß ¾µÖÖÜµÖÖ Ûúß×•Ö‹ …  6 

 Indian investors borrow from abroad. Answer the following : 

 (a) In which sub-account and on which side of the Balance of Payments Account 

will this borrowing be recorded ? Give reason. 

 (b) Explain what is the impact of this borrowing on exchange rate. 

 

28. ¸üÖ•ÖÃ¾Ö ¯ÖÏÖ×¯ŸÖ ÃÖê ŒµÖÖ †×³Ö¯ÖÏÖµÖ Æîü ? †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ´Öë ×Ã£Ö¸üŸÖÖ »ÖÖ®Öê ´Öë ÃÖ¸üÛúÖ¸üß ²Ö•Ö™ü ÛúÖ µÖÖêÝÖ¤üÖ®Ö ÃÖ´Ö—ÖÖ‡‹ …  

†£Ö¾ÖÖ 

 ÃÖ¸üÛúÖ¸üß ²Ö•Ö™ü ÃÖê ŒµÖÖ †×³Ö¯ÖÏÖµÖ Æîü ? †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ´Öë ÃÖÓÃÖÖ¬Ö®ÖÖë Ûêú †Ö¾ÖÓ™ü®Ö ÛúÖê ¯ÖÏ³ÖÖ×¾ÖŸÖ Ûú¸ü®Öê ´Öë ÃÖ¸üÛúÖ¸üß ²Ö•Ö™ü 

Ûúß ³Öæ×´ÖÛúÖ ÃÖ´Ö—ÖÖ‡‹ …  6 

 What are revenue receipts ? Explain the role of government budget in bringing 

stability in the economy. 

OR 

 What is government budget ? Explain the role of government budget in influencing 

allocation of resources in the economy. 
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29.  ¸üÖÂ™ÒüßµÖ †ÖµÖ †Öî̧ ü ¾ÖîµÖ×ŒŸÖÛú ¯ÖÏµÖÖê•µÖ †ÖµÖ –ÖÖŸÖ Ûúß×•Ö‹ :  

   (Ûú¸üÖê›Ìü `̀̀̀)  

(i) †×¾ÖŸÖ×¸üŸÖ »ÖÖ³Ö  70  

(ii) ÃÖÛú»Ö ¸üÖÂ™ÒüßµÖ ¯ÖÏµÖÖê•µÖ †ÖµÖ  1,000  

(iii) ×¾Ö¤êü¿ÖÖë ÛúÖê ×®Ö¾Ö»Ö “ÖÖ»Öæ ÆüÃŸÖÖÓŸÖ¸üÞÖ 20  

(iv) †“Ö»Ö ¯ÖæÑ•Öß ÛúÖ ˆ¯Ö³ÖÖêÝÖ  100  

(v) ×®ÖÝÖ´Ö Ûú¸ü  200  

(vi) †¯ÖÏŸµÖõÖ Ûú¸ü  250  

(vii) ÃÖ¸üÛúÖ¸ü «üÖ¸üÖ “ÖÖ»Öæ ÆüÃŸÖÖÓŸÖ¸üÞÖ  50  

(viii) †ÖÙ£ÖÛú ÃÖÆüÖµÖŸÖÖ  60  

(ix) ×®Ö•Öß †ÖµÖ  800  

(x) ¾ÖîµÖ×ŒŸÖÛú Ûú¸ü  150 4, 2 

 

 Find National Income and Personal Disposable Income :  

   (`̀̀̀ crore) 

(i) Undistributed profits 70 

(ii) Gross National Disposable Income 1,000 

(iii) Net current transfers to abroad 20 

(iv) Consumption of fixed capital 100 

(v) Corporation tax 200 

(vi) Indirect tax 250 

(vii) Current transfers from government 50 

(viii) Subsidies 60 

(ix) Private income 800 

(x) Personal tax 150 
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30. ¸üÖÂ™ÒüßµÖ †ÖµÖ ÃÖÓŸÖã»Ö®Ö ÛúÖê ¾µÖŒŸÖ Ûú¸ü®Öê Ûúß ¤üÖê ¾ÖîÛú×»¯ÖÛú ¿ÖŸÖí ¯ÖÏÖ¯ŸÖ Ûúß×•Ö‹ … ÃÖÓŸÖã»Ö®ÖÖë ÛúÖê ‹Ûú Æüß ȩ̂üÜÖÖ×“Ö¡Ö ¯Ö¸ü 

×¤üÜÖÖ‡‹ …    6 

 Derive the two alternative conditions of expressing national income equilibrium. Show 

these equilibrium conditions on a single diagram. 

 ¥ü×Â™ü²ÖÖ×¬ÖŸÖ ¯Ö¸üßüõÖÖÙ£ÖµÖÖë Ûêú ×»Ö‹ : 

 ¸üÖÂ™ÒüßµÖ †ÖµÖ ÃÖÓŸÖã»Ö®Ö ÛúÖê ¾µÖŒŸÖ Ûú¸ü®Öê Ûúß ¤üÖê ¾ÖîÛú×»¯ÖÛú ¿ÖŸÖí ÃÖ´Ö—ÖÖ‡‹ … •Ö²Ö †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ÃÖÓŸÖã»Ö®Ö ´Öë ®Ö ÆüÖê ŸÖÖê 

‡ÃÖÛêú ÛúÖ¸üÞÖ ÆüÖê®Öê ¾ÖÖ»Öê ¯ÖÏ³ÖÖ¾Ö ÃÖ´Ö—ÖÖ‡‹ …    

 For the blind candidates : 

 Derive the two alternative conditions of expressing national income equilibrium. 

Explain the effects when economy is not in equilibrium. 
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C3 Expected Answer / Value Points 
Distribution 

of Marks 

(SECTION-A) 

1 (c) oligopoly 1 

2 (a) Perfect Competition 1 

3 Imputed rent of own building. 1 

4 (b) Less than AR 1 

5 A price maker firm is one which can influence price on its own.  1 

6 Y is more elastic than X because one percent change in price of good Y leads 

to one percent change in quantity demanded while one percent change in 

good X has no effect on demand of good X.         

 

3 

7 For certain goods and services, government sets minimum price. This 

minimum price is called minimum price ceiling. 

This price is normally set at a level higher than the equilibrium price. This 

leads to excess supply. Since producers are not able to sell all they want to 

sell, they illegally sell the good or service below the minimum price.   

OR 

͚IŶĐƌease͛ iŶ deŵaŶd leads to eǆĐess deŵaŶd . SiŶĐe ďuǇeƌs ǁill Ŷot ďe aďle 
to buy all they want to buy, competition among buyers emerge leading to 

rise in price. Rise in price leads to fall (contraction) in demand and rise 

(expansion) in supply. This continues till demand is equal to supply at a new 

equilibrium price which is higher than the earlier price  

1 

 

2 

 

 

 

3 

8  The consumer is not in equilibrium because  

MRS >    ௉ೣ௉೤  or 3 > 
ସଶ 

Since the consumer is prepared to pay more for X than market demands, 

consumer will buy more of X and less of Y till MRS decline enough to be 

equal to 
௉ೣ௉೤ and consumer reaches equilibrium.   

 

1 

 

 

2 

9 Short run production function. 

 Initially TP increases at increasing rate. 

 After a certain level of output TP increases at decreasing rate. 

 Ultimately TP falls  

OR 

Cost is the sum of actual money expenditure on inputs and imputed 

expenditure on inputs supplied by the owner, including normal profit. 

TFC remains unchanged as output is increased.  

Initially TVC increases at decreasing rate upto a certain level of output and 

then increases at increasing rate.  

1 

 

3 

 

1 

1 

2 
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10 Es =  
௉ொ × ∆ொ∆௉ 

2 =  
ଶ଴ଵ଴଴ × −ହ଴∆௉  

∆P = - 5  

Neǁ P = P + ∆P = 20 + ;-5) = Rs. 15  

 

1 

2 

½  

½ 

11 Demand refers to the quantity of a good the consumer is willing to buy at a 

price during a period of time. 

Factors affecting market demand :  

(i) Own price of the good  

(ii) Income of the buyers 

(iii) Prices of related goods 

(iv) Taste and preference of buyers 

(v) Number of consumers  

(vi) Distribution of income             (any three) 

 

 

1 

 

 

 

 

 

 

3 

12 The conditions of consumer to be in equilibrium are  

(1) 
ெ�௫௉௫  = 

ெ�௬௉௬  

(2) MU falls as more of a good is consumed. 

Explanation: 

(1) suppose 
ெ�௫௉௫  is greater than 

ெ�௬௉௬  . This shows that per rupee MUx is 

higher than per rupee MUy. The consumer is induced to buy more of 

X and less of Y. This continues till MUx falls and MUy rises enough to 

make 
ெ�௫௉௫  = 

ெ�௬௉௬  i.e. to reach back to the equilibrium.  

(Answer based on 
࢞�࢞��  < 

࢟�࢟��  is also correct) 

(2) The condition that MUx falls as more of good X is consumed is 

required because unless it is not so the consumer may end up 

consuming only one good and not reach equilibrium.  

 

 

1 

1 

 

 

 

3 

 

 

 

 

1 

13 
(a) Product differentiation implies that buyers differentiate products of 

firms various as different. So they are willing to pay different prices 

for the products of different firms . This product differentiation gives 

the power to an individual firm to influence the market price on their 

own. 

(b) Perfect knowledge implies that buyers are fully aware of price in 

market and sellers of technique of production. Knowledge by buyers 

further implies that no buyer is willing to pay a higher price for the 

product of any firm. Knowledge by sellers implies that cost of 

production is same for all producers.   

 

 

 

3 

 

 

3 
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OR 

(a) Interdependence between firms in an oligopoly market implies that 

an individual firm takes into consideration the likely reactions of its 

rival firms before making a move to change price or output. It is 

possible because it is assumed that rival firms may react. 

 

(b) Large number of sellers means that number of firms are large enough 

so that contribution to total output of the industry by any individual 

firm is negligible. So, no single firm is in a position to influence the 

market price on its own by changing its own output. Thus, Price 

remains unchanged. 

 

 

 

3 

 

 

 

3 

14 Suppose the only two goods produced are X and Y. 

 

 

 

 

 

 

 

(or any other relevant schedule) 

Opportunity Cost refers to the quantity of one good foregone to obtain 

more quantity of the other good. For example when we move from 

combination A to B the economy foregoes 2 units of Y to obtain one more 

units of X. So opportunity cost of obtaining 1X is 2Y.  

MRT means quantity of one good sacrified to produce an additional unit of 

the other good. For example , When we move from combination B to C the 

MRT is  4Y:1X. MRT increases as to produce more of good X. We need to 

transfer less and less efficient resources from good Y.   

 

Combinations   X (Units)  Y (Units) MRT(=∆ࢅ ∶  ሻࢄ∆

A 0 20 - 

B 1 18 2Y:1X 

C 2 14 4Y:1X 

D 3 8 6Y:1X 

E 4 0 8Y:1X 

 

 

 

 

 

 

2 

 

 

 

2 

 

 

 

2 
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15 Shift of supply curve takes place when there is a change in supply due to a 

factor other than own-price of the good . For example, suppose tax rate on 

the good is reduced. This reduces cost and shifts the supply curve from S1 to 

S2 . Price remaining unchanged. Supply increases from OQ1 to OQ2  

(Answer based on any other factor is also correct) 

 

 

 

 

 

 

Diagram 

Example (factor) 

Explanation 

(Answer based on leftward shift is also correct)       

 Movement along the supply curve takes place when there is change in own 

price of the good. Suppose own price rises, this expands supply. The change 

is shown along the same supply curve S, from A to B leading to change in 

quantity supplied from OQ1 to OQ2  

 

 

 

 

 

 

Diagram 

Example (factor) 

Explanation 

(Answer based on fall in price is also correct) 

For the blind candidates  

Market Supply schedule is derived by summing up supplies of all the 

suppliers of the good at each price. Suppose there are only two firms A and 

B producing a good. The supply curve is derived from the figures as given 

below. 

 

 

 

 

 (Explanation based on fall in price is also correct) 

       

Price(Rs.)   Supply by 

A 

Supply by 

B  

Market  

Supply 

20 100 80 180 

25 200 150 350 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

1 

1 

1 

 

 

 

 

 

 

 

 

 
1 

1 

1 

 

 

 

2 

 

 

 

4 
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 SECTION - B  

16 (b) Selling of shares of public enterprises held by it.  1 

17 (c) Autonomous payments over autonomous receipts.  1 

18 Gross investment is addition to stock of capital before making allowance for 

depreciation. 

1 

19 (b) Capital loss. 1 

20 
Capital expenditure is one which either creates any assets or reduces any 

liabilities.    
1 

21 
MPC is the ratio of change in consumption expenditure (∆C) to change in 

total income (∆Y). 

Suppose ∆C = 70 and ∆Y = 100 then MPC = 
଻଴ଵ଴଴ = Ͳ.͹  

(or any other example) 

APC is the ratio of total consumption expenditure (C) to total income (Y). 

Suppose C = 80 and Y = 100 then APC = 
଼଴ଵ଴଴ = Ͳ.ͺ  

(or any other example) 

       OR 

Deficient demand means excess of AS over AD at full employment . Since 

government expenditure is component of AD, increasing it will help in 

removing deficient demand in the economy.   

1 

½ 

 

1 

½ 

 

 

3 

22       � = ̅ܥ + ሺ�ሻܥ�ܯ + �               ͳ͸ͲͲ = ̅ܥ + Ͳ.ͺሺͳ͸ͲͲሻ + ͵ͲͲ    ̅ܥ = ͳ͸ͲͲ − ͳʹͺͲ − ͵ͲͲ = ʹͲ 

1½ 

 

1 

 

½ 

 

�݉݋�݊� ݈��� 23 = ே௢௠�௡�௟ �௡௖௢௠௘௉��௖௘ �௡ௗ௘௫ × ͳͲͲ  

    = ଺଴଴ଵ଴଴ × ͳͲͲ             
  = Rs. 600 

1½ 

1 

½ 

 

24 
Unit of account function of money means that money can be used for 

quoting prices or recording transactions. This removes the difficulty of 

keeping accounts and makes possible the existence of financial institutions.  

OR 

Deferred payments are postponed payments to be made in future. Such 

payments arise on account of borrowing and lending activities. It has 

removed the problem of absence of financial institutions in the barter 

system. It has also removed the problem of trading in wider areas. 

 

 

 

 

4 

 

 

4 



Pg. 7 

 

25 Commercial banks are required to keep a certain percentage of deposits 

with the central bank as reserves.  

Besides central banks accepts deposits from commercial banks and give 

theŵ loaŶ iŶ tiŵes of Ŷeed. IŶ this ǁaǇ ĐeŶtƌal ďaŶk is ďaŶkeƌs͛ ďaŶk.  

 

 

4 

26 Government spending on child immunization programme is government 

consumption final expenditure. Therefore, it raises GDP. Since such a 

programme improves health, it will raise efficiency level of people and 

increase welfare. 

 

4 

27 (a)  Borrowings from abroad are recorded in the capital account of the 

 B.O.P.   because these give rise to foreign exchange liabilities.   

 These are recorded on the credit side because these bring foreign 

 exchange into the country.  

(b)  Borrowing from abroad raise supply of foreign exchange. Demand 

 for foreign exchange remaining unchanged, exchange rate is likely to 

 fall.  

2 

2 

2 

28 
Revenue receipts are the receipt which do not create any liabilities nor lead 

to reduction in any assets. 

Stability in the economy means keeping fluctuations in general price level 

within limits. When there is inflation, government can reduce its own 

expenditure to bring down the price level. When there is deflation 

government can increase its own consumption expenditure to fight it. 

Government can also use taxes and subsidies to influence personal 

disposable income and bring economic stability in the country. 

OR 

Government budget is a statement showing estimated government 

expenditure and receipts during a financial year.  

Government can encourage production of selected goods and services by 

providing tax concessions. For example electricity generation etc. 

Government can also give subsidies to enterprises who are willing to 

undertake production in backward areas etc. In this way government 

budget can be used to influence allocation of resources in the country.   

Increasing taxes and reducing subsidies will have the opposite effect.  

 

1 

 

 

 

5 

 

 

1 

 

 

 

5 

29 ܰ. �. = �� + ��� − �� − �� + ����              = ͳͲͲͲ + ʹͲ − ͳͲͲ − ʹͷͲ + ͸Ͳ             = ��. ͹͵Ͳ  Crore �ܦ� = �� − � − � − �        = ͺͲͲ − ʹͲͲ − ͹Ͳ − ͳͷͲ       = ��. ͵ͺͲ Crore 

 

2 

1½ 

½  

1 

½ 

½ 

 



Pg. 8 

 

30 AD = AS ……………………………..;iͿ 

(C + I) = (C +S)  

S = I  ……………………………..;iiͿ 

 

 

 

 

 

 

 

 

 

AD = AS is at E where AD curve intersect 45° line at E 

S= I is at E͛, ǁheŶ saǀiŶg Đuƌǀe iŶteƌseĐts iŶǀestŵeŶt Đuƌǀe at eƋuiliďƌiuŵ 
national income is OM.  

For blind Candidates: 

AD = AS ……………………………..;iͿ 

(C + I) = (C +S)  

S = I  ……………………………..;iiͿ 

Suppose AD > AS or S<I , then inventory will fall short of desired level. The 

producers will raise output AS will rise till AD = AS i.e. point E. 

(Answer based on AD<AS or S>I is also correct) 

2 

 

 

 

 

 

 

 

2 

 

 

 

2 

 

 

 

3 

 

 

3 

 


